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1 |BIF  hRE#RE £ e I - P S B 85.00 5500 4800
2 [BIF ARARE sxms M Ex=-aE ~| 2240 5500 2600
3 [BIF &E sxms M Ex=-aE | 2210 5500 2600
4 [BIF EXRE sxms M Ex=-aE ~| 1200 5500 2600
5 [BIF Bokif= =xms | wn= +] 91.20 5500 5500
6 [BIF = =xms | wn= +] 238,50 5500 5500
7 |BIF  ZEigE sxms M E5= +| 7020 5500 5500
8 [BIF E&=E =xms Q g25= <] 7980 5500 5500
9 |BIF MDFZE sxme M E5= ~| 21.80 5500 5500
10 [BIF ET sxms M@ BT | 8090 5500 2400
11 [BIF  BEEXZEN sxms M@ BT | 2240 5500 5500
12 |BIF  JROE— =xms M oe- B 11.20 5500 2400
13 [BIF DS snms | s | 700 5500 5500
14 [BIF  PSI sums | s | 340 5500 5500
15 |BIF R zxms [l Ex=-em ~| 1620 5500 5500
16 |BIF A2 sxms M Ex=-aE +| 4520 5500 5500
17 [BIF  PS2 zums [ = +| 340 5500 5500
18 |BIF (@A =xms M EF ~| 780 5500 2400
19 [BIF  i&#I—F— zxms [l ShEs B 7.70 5500 2400
20 |BIF  Yv)—% sxms [l ShEs -] 840 5500 2400
21 |BIF  HAHKYTE snms | s +| 1500 5500 5500
22 |BIF A3 zxms [l Ex=-2m ~| 940 5500 5500
23 |BIF  BEEIES sxms M@ BT | 2240 5500 5500
24 [IF  BHEE zxms [l #5= +] 605.20 4000 2600
25 [IF  BHFAE sxms M prmigE ~| 1780 4000 2600
| &t | 9516.80
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P =4 20—V AR =R peamn| FEW | B TRz | s | me | 0 %
26 [IF IVFSYAR—IL s=xme M oe- B 201,60 8000 6400
27 |1IF EVik—Jb =xms M oe- ~| 3740 4.000 2400
28 |[IF H&TF s=xms M BT | 88.60 4000 2400
29 [1F BEEREN =xmE @ BT | 2240 4000 4000
30 [1F  JpEOC— =xms |l oe- +| 1120 4000 2400
31 [tIF Ds =xms | wn= ~| 700 4000 4000
32 |1IF HE snms | = | 2240 4000 4000
33 |1F Pst s=ume W ww= -] 340 4000 4000
34 |IF BFER sxms M EF ~| 1620 4000 2400
35 [IF  EPS zums [l g5 +| 6.10 4000 4000
36 |IF  75—LAE snme W = ~| 1.90 4000 4000
37 [IF Ps2 zums [ wn= <] 340 4000 4000
38 |IF  &FER sxms W EF +] 1620 4000 2400
39 |IF  SEWMER sxms | EF -] 400 4000 2400
20 |IF g#a—F— zxms 0 Sn=Ez +| 700 4000 2400
M [1IF A2 zxmz § =Ex=-2E ~| 660 4000 2400
42 |IF =2 s=ums | we= ~| 2520 4000 4000
43 |1IF  BEEES sxms M@ BT | 2240 4000 4000
44 [IF ARE sxms M BT B 1540 4000 3000
45 |2F  s@mE snms M 2= +| 623.00 4000 2600
46 |2F  EVIK—IL =xms @ o | 37.40 4000 2400
47 |oF BT =xms l BT <] 88.60 4000 2400
48 |2F  BEEREN sxms M@ BT | 2240 4000 4000
49 |2F  FREOE— =xms  § oe- +| 1120 4.000 2400
50 [2F DS zums [ = +| 700 4000 4000
&t | 9516.80
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51 |2F  HRE =xms  Q wn= +] 2240 4000 3800
52 [2F  PSi zums [ = +] 340 4000 4000
53 |2F  BFERR sxms M EF ~| 1620 4000 2400
54 [2F  EPS zxms | B5= +] 6.10 4000 4000
55 |2F  PI—LRE =xms | wn= +] 1.90 4000 4000
56 |2F  PS2 s=ume |l ww= -] 340 4000 4000
57 |2F  &FER sxms W EF +| 1620 4000 2400
58 |2F  SBEMIER =xms M EF +| 400 4000 2400
59 |2F  pO—F-— =xms [l ShEs ~| 700 4000 2400
60 [2F A2 zxmz | Ex=-2E | 660 4000 2400
61 |2F M2 snme W = | 2520 4000 4000
62 |2F  BEERES =xms M BT +| 2240 4000 4000
63 |3F EHE snms M E5= +| 623.00 4000 2600
64 |3F  EVIK—IL wxms @ oe- | 37.40 4000 2400
65 [3F BT =xms l BT <] 88.60 4000 2400
66 |3F  BEEREN sxms M@ BT | 2240 4000 4000
67 |3F  FMEOE— =xms  J oe- +| 1120 4.000 2400
68 [3F DS zums [ wn= +| 700 4000 4000
69 |3F M s=ums | wh= B 2240 4000 4000
70 [3F  Pst wnms |0 wns | 340 4000 4000
71 |3F  BFEF sxms W EF | 1620 4000 2400
72 |3F  EPS =xms Q g25= ~| 610 4000 4000
13 |3F  PI-LAE sums W = ~| 1.90 4000 4000
74 [3F  PS2 zums [ = +| 340 4000 4000
75 |3F  KFER sxms W EF ~| 1620 4000 2400
| &t | 9516.80
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b 8, LH/ -5 YR =it pexmm| AR | BR O RASngee | me | e W%
76 |3F  SEMER =xms N EF +| 400 4000 2400
77 |3F  mmI—F— zxms [l ShEs ~| 700 4000 2400
78 |3F A2 sxms M Ex=-aE ~| 660 4000 2400
79 [3F g2 =xms || wax -] 2520 4000 4000
80 |3F  BEERES =xms l BT +] 2240 4000 4000
81 |4F  EHE =xms | =5= +] 62300 4000 2600
82 |4F  EVIK—I =xms @ oe- | 37.40 4000 2400
83 [4F BT =xms l BT <] 83.60 4000 2400
84 |4F  BEEREN sxms M@ BT | 2240 4000 4000
85 |4F  FMEOE— =xms  § oe- +| 1120 4.000 2400
86 [4F DS zums [ = +| 700 4000 4000
87 |4F M s=ums  § wns B 2240 4000 4000
88 |4F  PS snms | s | 340 4000 4000
89 |4F  BFEA =xms @ &7 | 1620 4000 2400
9 |4F  EPS =xms Q g25= <] 610 4000 4000
ol |4F  FI-LRE sume W = ~| 1.90 4000 4000
92 [4F  PS2 zums [ = +| 340 4000 4000
93 |4F  KFERA =xms M EF ~| 1620 4000 2400
9 |aF  ZEMER zxms M EF B 400 4000 2400
95 |4F  BHRI-F— sxms [l ShEs -] 700 4000 2400
9% |4F A2 sxms M Ex=-AE | 660 4000 2400
o7 |aF =2 =xms | wn= <] 2520 4000 4000
98 |4F  BEEIES sxms M@ BT | 2240 4000 4000
99 |5F  BHE zxms [l #5= +] 623,00 4000 2600
100 [5F  EVik—Jb =xms M oe- | 3740 4.000 2400
| Bt | | | 9516.80 I N N
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101 [5F BT =xms 0 BT +] 88.60 4000 2400
102 5F  BEEREN sxms M@ BT | 2240 4000 4000
103 [5F  SEEROE— =xms M ot- | 1120 4.000 2400
104 [5F DS zums | ww= +] 700 4000 4000
105 [5F M =xms | wn= +] 2240 4000 4000
106 [5F  PSt s=ume |l ww= -] 340 4000 4000
107 [5F  BFEFR =xms 0 &7 | 1620 4000 2400
108 [5F  EPS s=xme M g5= -] 610 4000 4000
109 [5SF  PI-LHE snms W = ~| 1.90 4000 4000
110 |5F  Ps2 zums [ = +| 340 4000 4000
111 [5F  &F@EHR zxms M EF ~| 1620 4000 2400
112 [5SF S EMIER zxms M EF B 400 4000 2400
113 [5F  @#a—F— sxms [l ShEs -] 700 4000 2400
114 [5F A2 sxms M Ex=-AE | 660 4000 2400
115 [5F  HiE=2 s=xms | wn= <] 2520 4000 4000
116 [5F  PEEYEES sxms M@ BT | 2240 4000 4000
117 [6F  BHE= =xms M wB= | 623.00 4000 2600
118 [6F  EVik—Jl =xms M oe- | 3740 4.000 2400
119 [6F  ET sxms M BT +| 88.60 4000 2400
120 [6F  BEREN sxms M BT +| 2240 4000 4000
121 [6F  FEOC- sxms | oc- +| 1120 4000 2400
122 [6F DS s=ume W = -] 700 4000 4000
123 [6F  AiRE=T sums W = -] 2240 4000 4000
124 [6F  PSI zums [ = +| 340 4000 4000
125 [6F  BFERHR sxms W EF ~| 1620 4000 2400
| &t | 9516.80
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126 [6F  EPS s=xme M E5= ] 610 4000 4000
127 [6F  PI-LHE sums W = ~| 1.90 4000 4000
128 [6F  PS2 zums [ wn= +| 340 4000 4000
129 [6F  HFER =xms  |§ &F | 1620 4000 2400
130 [6F % EHER =xms M EF +] 400 4000 2400
131 [6F  B#I—F- z=xms M Sn=Ez ~| 700 4000 2400
132 [6F A2 sxms M Ex=-AE | 660 4000 2400
133 [6F  HiE2 =xms | wn= <] 2520 4000 4000
134 [6F  PEEYEES sxms M@ BT | 2240 4000 4000
135 [7F  BHE= =xms M wB= | 623.00 4000 2600
136 [7F EVih—Ib =xms M oe- | 3740 4.000 2400
137 [ BT =xms M BT +| 88.60 4000 2400
138 [7F  BEREN sxms M BT +| 2240 4000 4000
139 [7F  ®MEOC- wxms @ oe- | 1120 4000 2400
140 [7F DS sume W = | 700 4000 4000
141 [TF s=ums | wns ~| 2240 4000 3800
142 |7F Psi zums [ = +| 340 4000 4000
143 |7F  BFER =xms M EF ~| 1620 4000 2400
144 |7F EPS zums [ g5 <] 6.10 4000 4000
145 [1F  P5—LA= snms | s | 1.90 4000 4000
146 |7F Ps2 wums  |§ wes | 340 4000 4000
147 [TF &F@EH =xms M EF ~| 1620 4000 2400
148 [7F S EMIER =xms M EF ~| 400 4000 2400
149 [7F  &#HI—F— zxms M SnEs | 7.00 4.000 2400
150 [7F A2 sxms M Ex=-aE ~| 660 4000 2400
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151 [7F  HiE2 =xms  Q wn= +] 2520 4000 4000
152 [TF PEEYEES sxms M@ BT | 2240 4000 4000
153 [8F  BHEE zums § #5= +] 495.10 4000 2600
154 [8F  ©3IF—I—L sxms | 2= +] 127.90 4.000 2600
155 [8F  EVAK—Jb s=xms M oe- ~| 37.40 4000 2400
156 [8F  ET =xms l BT +] 88.60 4000 2400
157 [8F  BEEREN sxms M BT +| 2240 4000 4000
158 [8F  FkEOC— =xme M oe- ~| 1120 4000 2400
159 |8F DS zums [ = +] 700 4000 4000
160 8F  AiRE=T sume W = | 2240 4000 4000
161 |8F  PSi zums [ = +| 340 4000 4000
162 [8F  BFERR zxms M EF B 1620 4000 2400
163 [sF  EPS =xms |l B8 | 6.10 4000 4000
164 [8F  PI-LAE sums | s | 1.90 4000 4000
165 [8F  PS2 sume W = | 340 4000 4000
166 [8F L@ =xms M EF ~| 1620 4000 2400
167 [8F S EMER sxms W EF ~| 400 4000 2400
168 [8F & I—F— zxms M ShEs | 7.00 4.000 2400
169 [8F A2 sxms M Ex=-aE ~] 660 4000 2400
170 [8F  HhiE=2 snms | s +| 2520 4000 4000
171 [8F  BEERES sxms M BT +| 2240 4000 4000
172 [oF  &# s=xme [ tarz <] 52040 4000 2600
173 |9F  FEE =xms [ 55 +| 10260 4000 2600
174 [9F  EVik—Jl =xms M ot- | 3740 4.000 2400
175 [OF  EF sxms M@ BT | 88.60 4000 2400
| &t | 9516.80
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176 [9F  BEEIEN =xms 0 BT +] 2240 4000 4000
177 [9F  JRROE— =xms M oe- ~| 11.20 4.000 2400
178 |9F DS zums [ wn= +| 700 4000 4000
179 |OF k=T =xms || wax -] 2240 4000 4000
180 [OF  PS1 sume W = | 340 4000 4000
181 [9F  BFEH =xms M EF ~| 1620 4000 2400
182 [OF  EPS =xms |l 25 | 6.10 4000 4000
183 [9F  PI—LFHE s=ume W ww= -] 1.90 4000 4000
184 |OF  Ps2 zums [ = +] 340 4000 4000
185 [9F KRR =xms M EF ~| 1620 4000 2400
186 [9F % EBYERR zxms M EF ~| 400 4000 2400
187 |9F  H#I—F— =xms [0 sn=z ~] 7.00 4,000 2400
188 [OF A2 sxms M Ex=-AE | 660 4000 2400
189 [OF  HhiE=2 sums | s +| 2520 4000 4000
190 [9F  BEERES =xms l BT <] 2240 4000 4000
191 |PHF  EVigtlE zums [l g5 +] 48.00 4000 4000
192 |PHF  3EEFEVHEHE zums | 25 ~| 2880 4000 4.000
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BESNE - SAEIERL - A

ML EMES B AR
67 511
47 LAV -EILAIL
41 JV9Y—+
181 HERIAFLY 74— L RiBR 178
oW1 302 EEFAPEE
62 BoZoR—F

Ed# BpBEA

10.0
25.0
150.0
25.0

8.0

d/ A

1.300 0.008
1.500 0.017
1.600 0.094
0.040 0.625
— 0.090
0.220 0.036
> d[mm]

Z{d/ A MK/ W]
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EBES

2180
0.870
0.976
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BEEH  EMES BMET
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47 LAV -EILAIL
102 FRP

OR1 47 AV MBI
41 JV9Y—+
302 EEFAPEE
62 BoIoR—F
70 AV — I AL FERE R

Ed# BpBEA

60.0
50.0
15.0
5.0
15.0
150.0
10.0
12.0

d/ A

1.600 0.038
0.040 1.250
1.500 0.010
0.260 0.019
1.500 0.010
1.600 0.094
— 0.090
0.220 0.045
0.064 0.188
> d[mm]

Z{d/ A MK/ W]

EE R EREUIW/(mMK)]

EBES

3170
1.744
0.527
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41 JV9Y—+
47 LAV - EILAIL
101 EZIVRER#

SBW1

E# BInEE) d/ A
150.0 1.600 0.094
27.0 1.500 0.018
30 0.190 0.016
> d[mm]
Z{d/ A MK/ W]

EE R EREUIW/(mMK)]

EBES

180.0
0.128
4182
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W/m-K] n [ W/m-K] n [-]
1 |WNDW1 TN T BIRASA 527 050 6.09 0.70 -
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1 |BIF  rREHE = |J ow 37.40 WNDW1 11.20
2 miz |J sewi 68.80

; g

4 |BIF EREEE are ([ sawi 23.70

; g

6 |BIF =& aiz [J sewi 18.20

) g

8 [BIF ExXE are ([ sawi 12.10

; g

10 [1IF  EB= + [l ow 68.00 WNDW1 20.40
11 = [l ow 148.00 WNDW1 44.40
12 m |l ow 46.40 WNDW1 13.90
13 E

14 |1F  EHAE |l ow 21.60 WNDW1 6.50
15 E

16 |1F IVRIVAR=IL it H ow1 72.00 WNDW1 21.60
17 |l ow 72.00 WNDW1 21.60
18 7 | ow 179.20 WNDW1 53.80
19 -]

20 [1F  EVi—IL E

21 [2F 2B + [l ow 68.00 WNDW1 20.40
22 = |J ow 148.00 WNDW1 44.40
23 [l ow 68.00 WNDW1 20.40
24 E

25 |2F  Evih—ll -}

26 [3F EEE + [l ow 68.00 WNDW1 20.40
27 ® [l ow 148.00 WNDW1 44.40
28 |l ow 68.00 WNDW1 20.40
29 -]

30 [3F  Evih—l 7z || ow 44.00 WNDW1 13.20
31 E

32 [4F  BEE | ow 68.00 WNDW1 20.40
33 = |J ow 148.00 WNDW1 44.40
34 |l ow 68.00 WNDW1 20.40
35 E

36 |[4F  Evih—l 7z || ow 44.00 WNDW1 16.40
37 E

38 [5F  EHE £ [l ow 68.00 WNDW1 20.40
39 = |J ow 148.00 WNDW1 44.40
40 [l ow 68.00 WNDW1 20.40
4 E

42 |5 EVih—Il @ | ow 44.00 WNDW1 13.20
43 E

44 [6F  EHE + [l ow 68.00 WNDW1 20.40
45 = [l ow 148.00 WNDW1 44.40
46 [l ow 68.00 WNDW1 20.40
47 E

48 |6F  EVih—b 7 | ow 44.00 WNDW1 13.20
49 -]

50 [7F  BHE + [l ow 68.00 WNDW1 20.40
51 = [l ow 148.00 WNDW1 44.40
52 |l ow 68.00 WNDW1 20.40
53 E

54 |7F  EVih—b 7 | ow 44.00 WNDW1 13.20
55 E

56 |[8F  BHE + [l ow 68.00 WNDW1 20.40
57 = [l ow 117.20 WNDW1 35.20
58 E

59 [8F  tIF—J—L m |l ow 68.00 WNDW1 20.40
60 = [l ow 30.80 WNDW1 9.20
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61 E
62 |8F EVik—Jb [iic] H ow1 44.00 WNDW1 13.20
63 E
64 |oF B & (B ows 68.00 WNDW1 20.40
65 = |l ow 148.00 WNDW1 44.40
66 i3] H ow1 68.00 WNDW1 20.40
67 K% |[H|ori 520.40
68 E
69 |9F EVik—Jb [iic] H ow1 44.00 WNDW1 13.20
70 K% [ ort 37.40
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1 |BIF  kiEz -]

2 |BIF  ##=E = |J ow 96.80
; g

4 |BIF ZEM=E = [l ow 64.35
; g

6 |BIF ERE E

7 |[BIF  MDFE -}

8 [BIF BT -}

9 [BIF BEEREN -]

10 [BIF  iEOC— E

11 [BIF DS E

12 [BIF  Pst -]

13 |BIF Rl E

14 |BIF B2 -]

15 |BIF  PS2 E

16 |BIF {EA7 E

17 |BIF  B#a—F— -}

18 [BIF  vD—%= -}

19 [BIF  HAkYTZ -]

20 |BIF  AES3 E

21 [BIF  BEEEES -]

2 [IF BT [ ow 8.00
23 [l ow 8.00
24 E

25 [1F BSEEEN + [l ow 28.00
26 7 [l ow 12.00
27 E

28 |IF ®EOE— E

29 [1F DS 7z || ow 6.40
30 E

31 [1F ikt 7 |l ow 12.00
32 -]

33 |[1F Pst # | ow 10.80
34 E

35 [IF  BFEM -}

3 |1F EPS E

37 |[IF  73—LHE -

3 [1IF Ps2 7 | ow 10.80
39 -]

40 |1F  &F@EAT H

41 [IF  sBEMER -]

a2 IF g#a—r- -]

43 |IF A 7 |l ow 12.00
44 E

45 [1F =2 7 |l ow 16.80
46 E

47 |IF BEEEES m |l ow 28.00
48 7 |l ow 12.00
49 -]

50 [IF  EARE = [l ow 16.80
51 |l ow 20.00 WNDW2 9.00
52 @ |l ow 16.80
53 E

54 |2F BT + [l ow 8.00
55 |l ow 8.00
56 E

57 |2F  BEBREN £ [§lowr 28.00
58 7 | ow 12,00
59 -]

60 |2F  mMEOC— E
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61 [2F DS 7 |l ow 6.40
62 B

63 [2F  HghkE=1 @ |J ow 12.00
64 E

65 [2F  Pst 7 |l ow 10.80
66 E

67 |2F  BF{ER -

68 [2F  EPS E

69 [2F  PI-LFE -]

70 |2F  Ps2 |l ow 10.80
71 E

72 |2F  KFERR -]

73 |2F S EMER E

74 |oF  B#I—F- -}

75 |2F A2 7 |l ow 12.00
76 E

77 |2F 2 7 |l ow 16.80
78 E

79 |2F  BEEES | ow 28.00
80 # | ow 12.00
81 E

82 [3F  ET [ ow 8.00
83 [l ow 8.00
84 E

85 [3F  BEEREN E - Ko 28.00
86 7z |l ow 12.00
87 E

88 |3F  mEOC— E

89 [3F  Ds 7z || ow 6.40
90 E

91 [3F k==t 7 |l ow 12.00
92 -]

93 [3F  PSt # | ow 10.80
94 E

95 |3F  BTEA -}

9% [3F  EPS E

97 [3F  PI-LHE -

98 [3F  Ps2 7 |l ow 10.80
99 -]

100 [3F  &FER -}

101 |3F L BEIER H

102 3F  B#I-F— -}

103 [3F A2 7 |l ow 12.00
104 E

105 [3F g2 7 |l ow 16.80
106 E

107 [3F  BEERES m |l ow 28.00
108 7 |l ow 12.00
109 -]

10 [4F BT + [l ow 8.00
11 |l ow 8.00
112 -]

113 [aF  BEEREN E| - Ko 28.00
114 7 |l ow 12.00
115 E

116 [4F  REEOE— E

117 [4F DS |l ow 6.40
118 E

19 |4F 7z |l ow 12.00
120 E
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121 [4F  Psi 7 |l ow 10.80
122 B

123 |4F  BFER -1

124 [4F  EPS E

125 |4F  PI—LRE -

126 |4F  PS2 @ | ow 10.80
127 E

128 [4F  KFERR -}

129 |4F  ZERIER -]

130 [4F  H#O-+-— E

131 [4F A2 7 |l ow 12.00
132 -]

133 |4F 2 7 [l ow 16.80
134 E

135 [4F  BEERES |l ow 28.00
136 @ Qi ow 12.00
137 E

138 [5F BT E| - Ko 8.00
139 | ow 8.00
140 E

141 [5F BEBYEN E| - Ko 28.00
142 @ |J ow 12.00
143 E

144 5 FBOP— -]

145 [5F DS 7 |l ow 6.40
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